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(10%) Q#1 Which of the following statements are True and which are False:
ﬂi— The negation of the statement "VxeZ  JyeZ Suchthat x divides y"is
"3x e Zsuch that Vy e Z y divides x"
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/—I—-— The truth table of the statement (p A q) v (r A s)hasl6 rows.
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If p A q is a true statement, then p v g is true.
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(15%)Q#4) Prove the validity of this argument. Write full details.
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_(10%) Q#6) " The product of every two irrational number is irrational”

(a) Write the above statement in the conditional form
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(c) Write the contrapositive statement.
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(d) Write the negation of the statement.
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{e) Write the negation of the followmg statement:
For every £ > 0, there exists & > 0 such that
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(25%) Q#T) Prove or disprove: If the statement is true prove it, if not give a counter example.
(a) Forevery ne N n? —~n+5 isodd.
é_:ﬂ et P(oo\) 7

- o auen numut’
C-(Z"S {_1} L I Pt [£RW

fe
-7,5(—;'2'..;..'3-!’1 =7 .‘,_ L
- ok + Y+l .

3 c.l,;~'11<._'?lc+5_ rt-2 _
(ﬂi (ﬂ) } Q‘(ﬂﬁl"ki‘z) ._'—_"_.."‘) ‘2".1"‘,:—'{'?6?

Y od& nui”\b‘m’(
Yeep ~>n=1£7] . B
(2e) ~(y ) 4 = Yerpqer=pk TS TR e 0,

S o7 SheN nSeng fSoo!J Pt T

(b) For each real number x , there exists a real number y such thatxy =1. A g
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(e) A~ B =B- A for any sets AB g‘: i—”';(ﬂ
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Bonus(10%)  Use mathematical induction to prove that Vne N.
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